1)
G,=00n>1

G*, :{Gp}_{l}
ZG*P :ZGP -1=-1

ZG*pq :Zqu _ZG*P _ZG*q -1=0+1+1-1=1

n" = 7(5)

5|n

n" = 0(5)

5/n

n4k = 1k = 1(5)

n" = n*n%® = pn)(5)

T1:

L) 1 2 3

n?) 14 41

T2:

Ln) 12 3 4

n?) 13 2 4

on) 01 2 34586 7 89 10 11 12 13 14 15 16 17 18 19
rh) 012340123401 2 3 40 1 2 3 4
nh) 01230123012 3012 30 1 2 3
W) o14210131401 13 101 2 4 4
r(")=0- n= 051015

(")=1- n= 146811121416

rs(n”)=2 - n=317

rs(n”)=3 - Nn=713

(o)
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4)

(@)
aRb - a=b

(b)

Imposible

()
aRb

bRa
aRa

bRb

(d)
aRb

bRa

bRb

(e)
aRb

bRc
aRc

®
aRb

bRc

(9)
aRb

bRa
bRc
aRc

(h)
aRb

bRa
bRc

5)

Hay solo 2 raices sextas primitivés; y G,



1 x){x—(é+§iﬁ(x—&—§i

= 4(X)(X2 B X+1)

:(x4+2x3—2x2 —2x+1)(x2 —x+1)
G:1

:(x3+3x2 +x—1)(x—1)(x2 —x+1)
G:-1

= (x2 +2x - x)(x—l)(x+1)(x2 - x+1)

=-1+4/2



